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.1{ There were twenty-sx students in room 5, twenty-gsght
students in room 7, and thirty students in room 9. How many
stugdents were in all three rooms?

A 21 B. 28 C. 74 D. B4

2 Knox had 3 feet of rope and then Jessie gave him some more.
if Knox then had 12 feet of rope altogether, how many feet of
rope did Jessie give him?

A 15festofrope B. Jfestofrope C. 9festoflmpe D 12 feet of rope

ﬂﬁu- The socoer ball costs thirty-two dollars. Melody has saved
nineteen dollars. How much more money does she nead to
buy the soccer ball?

A §51 B. $13 C. 27 D. £12

ﬂ%&mhmmmmm

A. $70.010 B. $7010 C. §710 D. §7100

a&h‘-ﬁdmm.:uﬁ&mum,am,mdzm
A. 50,032 B. 5032 C. 523 D. 532

§. Brianna bought a book and a toy with twenty-five dollars. if
the toy cost seventeen dollars, how much did the book cost?

A %8 B. 542 C. 59 D. $17
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T Cuan spant $285 collars on New clothes and $75 on school
supples. How much money did Ouan spend aktogether?

A. 5285 B. 5360 C. §210 D. $350

.-.i' Romero samed $34 walking dogs. He spent §15 dollars on a
new toy. How much money did Romero have left?

A $15 B. 51 C. 519 D. £22

_!.Tuﬂmmﬂhrﬂud1.ﬂ?ﬂml1:hh
A. 2,000 B. 1,900 C. 1,800 D. 1,700

W..F‘n:luurmui:rﬂum and then choose the next
three numbers. 63, 56, 49, 42, .

A. 38, 30, 24 B 35, 28, 23 C.3528. 21 D. 35 21,14

_1 When Connally left her house, the thermometer read
58 degrees Fahranheit, When she returmed home, the
thermometer read 72 degrees Fahrenheit. How much warmer

was the temperature when Connally got home?

A 72degrees B. S58degees C. 26degrees D, 14 degrees

11 Cheryl agreed to babysil for her nesghbors Friday night. The
™ Brmes on the clocks show when she stanted and fiisheg
babysitting. How long did Cheryl babwsst for her nesghbors?

A. 1 hour 45 minutes B. 2 hours 15 minutes
€. 2 hours 45 minutes D. 1 hour 15 minutes
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%Mmmmhﬂrﬁdﬂm‘
A. 8 cents B. 80 cenis C. 40 cents D. 58 cants

H- For the Saturday night performance, 278 people attended the
school play. Rounded to the nearest ten, about how many
people watched the play Saturday night?

A. 2TOpeople B. 300pecple C. 280 people D, 275 people

15. [ 5 + n + 7 = 16, then n equals
A4 B. 8 C. 6 D.9

‘I&STEJ-—HWM
A. 5530 B. 5520 C. §420 D. $1000
Ei-ﬂ'mm

A §21 B. §11 C. $279 D. §179

1&:.54.2 + $50 squals
A. $283 B. 3, C. 840" D. 8411

H.Hs-t-- 31, then w equals
A 33 B 23 C. 32 D. 85

:rg_.rraﬁ-bx-ﬁa,mx“
A 99 B. 37 C. 27 D. 33



-+

21. The digit 3 in 1435 represents
A. 3tans B. 3 ones C. 3 hundrads D. 3 thousands

%Lm,smh?ﬂﬂdnwmhrmm
Her parents gave her $15 a5 a reward for working £o hard.
How much money did Leasha have altogether?

A $a2 B, $47 C. $52 D. §15

H. Amir played baseball today and last week. When he
played bassball today, the temperature was 85°F.
Today was 10°F warmer than last wesk_ What was tha
temparature [ast weex?

A 15°F B. 10°F C. 95°F D. 75°F

%Hﬁhﬂumﬂlﬁ?ﬂ.ﬂ.lﬂlﬁ?

A, SB50 B. $&70 C. §570 D. §550

H-Tl'hatﬂrnmﬂmmmhm [ \
was the temperature in the morming. By the — 80
afternoon the temperature had risen by 20
dagreas F. What is the tamperature in the
afternoon?
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Name | senchmak et |
Score

Fgr S e D 0

r}\ﬂﬂmhunﬂn&ﬂ&uhmmhﬁm
72,83,54, 45,36,

A Acd g B. Subtract 9 C. Dvideby® D, Reverse the digits

2. Which number below equals (7 > 100) + {4 x 10)?

A, 740 B. 70,040 C. MO0 +410 D. 470

3. The largest purmpkin at the festival weighed 38 pounds. The
smallest pumpkin at the festival weighed 1 pound. How much
A. 20 pounds B. 39 pounds C. 38 pounds D. 40 pounds

.-ﬂi' MNicoke made 24 cups of lemonade for her lemonace stand,
She gave her mom 4 cups and her brother 2 cups, How much
lemonade does she have laft?

A. B cups B. 18 cups C. 20 cups D. 4 cups
&mnmmwmmmm

17T=b =11

A B B. 28 c.7 D 8

#mmmmmmmuthww
A. 70+ 40+ 1 B. 700 + 10 + 4
C. 700 +40 + 1 D. 7000 + 41

Sanon Math 4 (for use with Lesson &) 155



B

;- Ling rased 526.25 at the studant council bake sale. Ling also
collected $8.28 in donations. How much money did Ling raise
in total for the student council?

A 53343 B. §$34.53 C. $18.03 D. §27.04

“!un- Esmeraleda saved $£26.285 from babysitting over the holidays.
She also saved $7.95 from walking her neaghbor's dogs. What
is a reasonabke estimate of Esmeraleda’s total savings?

A. 817 B. 526 C. §50 D. 5§35

}wmﬂmhmwﬁmﬂ
2x0=0

A. ldentity Proparty B. Zero Property of Multiplication
C. Additive kdenbty D. Assnciatve Proparty

ﬂ-ﬁmaihl:hﬂmﬂuﬂﬂ
soccer practica in the afternoon. If soccer |
practice lasts one hour and fiftean minutes,
at what time does practice start?

A 515 p.m. B 345pm. C. 15 pm. D 315 pm

u- Jake wants 1o buy 2 basaball cap that usually costs §12.00,
but is on sale for $3.00 off. He has a ten dollar Gill. if Jake can
buy the bassball cap. how much will he get back in change?

A. §1.00 B. $9.00 C. S$0.60 D. §7.00

1%. Luke found a piece of string 14 inches long, but his fiend
Matthew found a pece of string 32 inches long. How much
longer was Matthew’s string than Luke's?

A. 18 inches B. 46 inches C. 18 inches D. 14 inches
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%mwﬂhﬂﬂ?.zdﬁm

A. B hundreds B. B hundred-thousands
GC. B thousands D. B ten-thousands

ﬁwﬂﬂﬂmmhhmmﬂw
A. 357 milion B. $234 thousand C. $21 milion 0. $87 thousand

Er- Which shows how 1o write the number “seventy-five
thousand, three hundred fifty dodlars™ using digrts?
A. $753,500 B. $7535 C. $75,350 D. 750,300,550

1.I_~ Which equails the value of two quarters?
A. $0.50 B. $2.25 C. $055 D. $0.25

A.1llin, B.Eiin. c 1lin D. 2

B3
LL TR

18. How many gallons equal 48 quarts?
A 4 gallons B. 12 gallons C. 8 gallons D. & galions

1}hmmmhdmﬂmmm
homa with two bags of groceries and five dollars. How much
did Ms. Lidden spend at the store?

A. 527 B. 513 C. 525 D. §15
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20. Which number santance shows five times one equals five

'-"-rlﬂl-'.l I
ASx1=5+10 B5x1-5=0
C.S5x1=56-0 D5=1x5+0

21. Which circle is § shaded?
2 D B D
%thamma-mhmmﬂmmmu

it & im 3 howrs 45 minutes7?
Al 10:30 am. B. 1045 aum. . 11300 aum. D. 11:15 am.

%Hﬂ:hnluuhlnqu“1+4+l+q+4?
ALS = 4 B5+5+5 C.4x4 D. 44

§+mimmmmixﬁ?
A B x 3 B 2 x 12 C.6 x4 D5 x5

%Ammmdﬁymmmmmma
24, and 21 pints of milk from them. How many pints did the

farmer milk akogether?
A. 78 pints B. 87 pints C. 60 punts D. 22 pints
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Name ot |
Score

_1- Jumbo weighed siX thousand, two hundred eighty pownds.
Jumbo weighed how much more than Sheba?

A. 15,891 pounds B. 1478 pounds C. 538 pounds D. 662 pounds

lEﬂhpﬂﬂmﬂnﬂtMLpth?!m
riders could sixteen gondolas camry up the mountain?

A2 B. 24 C. 128 D. 848

_I-L Shelley rode four miles to the park in 20 minutes at a steady
spenad. How many minutes did it take Shelley to ride each
mila?

A. 20 minutes B. 12 minutes C. B minutes D. 5 minutes

tmmmmm“ﬁmﬂnmm
marry math problems did Micah solve each day?

A, 1000 B. 50 C. 40 D. 30

g-l-luufum Imedda drive in 12 hours at 50 miles per hour?
A. 600 miles B. 620 rmiles C. 60 miles D. 62 miles

&Hﬂmdﬂumtm l ‘ ’

T T
A.% n.ﬁi C. 15 D. 3
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A 2 B. 20 G. 200 D5

&mmhmm

1.1 1.3
in‘-?-:! I.E-:E C.

Pl =t
I
] ds
o
% T
M
LRI LA

}Thpuﬁdﬂﬁﬂﬂuﬂﬁliﬁmm
A. 500 = 300 B. 500 x 400 C. 600 x 300 D. 600 x 400

H-TMWH’H%HMH.AWH p
a

A. RM B. PR C. MO D RO

u.mmrjmhuhdﬂw'ﬂmh
AT B. B C. 37 D. 42

1_!; 6174 + 3686 equals
A. 9750 B. 8760 C. 5880 D. 9960

'I‘;‘!. 38274 - 15939 equals
A, 344 B. 20345 C. 21744 D. 20335

J4. 546 - (12 + 312) equals
A, T8 B. 432 G 222 D. 114
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i 400 = (3 x 15) equals
A 475 B. 325 C. 410 D. 375

1:.:-:41}::5-:*
A, 1200 B. 1020 C. 1400 D. 400

A 1220 B. 1430 C. 1480 D. 1380

1;. Christopher wants to read a book with 86 pages. He reads 28 pages
sach day for 3 days. How many pages does he have left to read?

A. 0D 8. 1 C. 2 D. 3

20. I By = 72, then y equais

A 12 B 3 C. 8 D. 4
ﬂ.mwﬂmhﬂwim‘? i
A. obtuss B. zcute C. straight B. right

2.5 x (8- 9) + 1equals
A 26 B. 38 C. 30 D. 125
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A.% B. 10 C. 6

%1&3+?+mm
A 239 B. 199 C. 262

% Round $23,752 to the nearest thousand dollars.
A. £24 8300 B. $25,000 C. $24,000

D1

==

D 213

D. 524,750
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Nerms | penchmak fest |
Score

o it il e S0

} What is the value of the missing addend in this numiber
santenca? B + 4 + y = 17
A B B. 4 C.5 D. 6

%mwmmmiuwtuﬁmmw

1.1 1.13.1 4. .3.3
A.%+a+3 B.i+3+% cCi1+1+1 o.3+3+3

%Hﬂhﬂﬂwmhmmw
A 345 B. 567 C. 042 D. 143

:Jlu + d = Bd, then d equals
A B4 B. 105 c. 41 D. 23

%Mwwmm'nﬂﬂlﬂﬂdﬂnﬁm
shown on the clock. Sha finished har homeswork 45 minules
later. At what trne did Met finish her homework?

A, 305 pm. B. 4:45pm. C. 335 pm. D. 500 p.m.

Saxon Math 4 {for use with Lesson 800
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émmm5+5+5+5+5u:
multiplication problem?
A5 x5 B.4x5 C.5 X6 DSxpPB+§x2

&mwm“ {5 x 1000) + (2 x 100) + (B x 1007
A. 528 B. 5280 C. 52,800 D. 5,028

9. How long is this paperciip to the nearest quarter inch?

[ —
I I 1 ! || I || | 1 IT[ T [
[Tory 1 2 3
3 1 a
A. 3inch I.%hph C. Jinch D. 15 inches

ﬁﬂm-ﬂ.mnm
A6 B. 18 C. 4 D. 2

1'1. Justyna uses 1 cup of fertilizer for four plarits. How many
cups of fertilizer will she use for all 16 of her plants?

A. 3 cups B. 4 cups C. 48 cups D. Bcups

& Higinian M6 Facoaen Fulilheg ©argaiy afel Uephen Flaoe



0 by et 1 W a1 Bubiinleng Compars ard Siepten ks

| Benchmark Test |

1&%hamﬂhmﬁﬂudﬂunﬂﬂd‘ﬂﬂmﬁ?
A. 3000 B. 6200 C. 1220 D. 4000

E-Higdmm'uahmdﬂshmmmmamm
many baseballs can Miguel throw in 2 minutes?

A. 10 baseballs B. 12 basebalis C. 20 baseballs D. 5 baseballs

4. About how long is the nail? h-_-n_-

en i 4 -] 4 5 B

A Sin. B. 6cm C. 4 mm D. Scm

15. In the word COLORADO, what fraction of the letters are Os?

1 1 3 5
ﬁ..— "3 I:.‘:.!I I:Ll
&mmﬂmwh
Tem 7 em
& ocm
A 14 cm B. 20cm C. 21em D. 42 cm

E-Thmwgmm”mh%m
A. 2000 pounds B, 1000pounds C. 500 pounds D. 1200 pounds

%mmuﬂuxmmmmm
bloamed?

A 12 marigolds B. 16 marigokds C. Emarigoids D, 24 marnigoids



13. Alicia purchased a painting kil that holds 32 tubes of paint. i
the tubes of paint are amanged in 4 rows, how many tubes are
in aach row?

A. 9tubes B. 7 tubes C. 8 wbes D. 6 tupes

%m—mm
A 278 B. 674 C. 638 D. 234

ﬂ.mmmmm He divided them into 4 equal
stacks. How many basaball cards were in each stack?

A. 15 cards B. 50 cards C. 100 cards D. 25 cards

22. The digit 6 in 6832 represents
A. B hundreds B. 6 thousands C. 6tlens D. 6 ten-thousands

E- The tennis coach nesds to take 24 team members to the next

tournament, Each van will hold 8 players, How many vans will
the tennis coach nead to transport the whols team?

A 4 vans B. 8 vans C. 6vans D. A vans

!:.MMHMWHMMH?

EHH

2_1 3.5 3_5 3.5
A3>3 il & | C I8 038

%Whﬂupr'ndMnlﬂlﬁﬂﬁ
A 2185 B. 2415 &. 2115 D, 2385
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Neme | Benchmark Test |
Score

For uie Sy [ 1D

A 5158 B. $1.48 C. $1.51 D. 51.61

2, There are 9 baseball players on each team. Teenly-one
baseball players make 2 teams plus how many extra players?

A1 B. 2 cC. 3 D. 4

}mmdamhhupddpup-mmznm
change. The pad of paper cost

A 2T¢ B. 83¢ C. T2e D. T3¢

:. Maccon wrote eight multiplcation facts twelbve times each,
How many multipiication facts did Maxon write?

A. 98 B. 106 C. 86 D. 20

&hm-hmdﬂ?ﬂiﬂ“m
A. 500 and 200 B. 500 and 300
C. 400 and 200 D. o600 and 300

&Hﬂhﬂrmwwﬂw‘?

a b e F c G o.H

Sangn Math 4 (for use with Lesson 10480)
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I;. Which letter has no line of symmetry7?

a W 8 X e Y o.Z

8. The sides of & square with a perimeter of one meter are how

LUk

long?
A. 100 cm B S0cm C. 25em D. 10cm

lﬁuglmﬂﬂﬂnﬂmhmg,suyn-iﬂ:uiﬁmhu.
Sagment AD is 80 mm long. How long is CD?
A -] c D

- . - —

A. 32 mm B. 30 mm C. 2B mm D. 32 mm

A1 B. --11 I:L!}I

T

PN

.
A

o | £

11. $48.75 + §164.75 equals
A. §212.50 B. $213.50 C. §222.50 D. $223.50

E— $176.24 - $78.12 squals
A. $102.12 B. $98.12 C. $108.12 D. $25£ 36

13. $6.05 x 10 squals
A. 58005 B. $85.00 C. $60.50 D. $6.15
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A. 423 B. 2 B61 C. 2,061 D. 110
ﬂ}ﬁluunuwﬂu

A, 3670 B. $6.07 C. $67.00 D. 5057
l&r-.’ﬁm

A 9 B. 78 c T2 D. 6

E 4.375 - 1.75 equals
A. 4200 B. 3.300 C. 2.625 D 2775

18. 600 » 30 equals
A, 1,800 B. 18.000 C. 180,000 D. 180

'E.Hﬂﬁ # n = 214, than n aguals
A 250 B. 232 c. 182. D. 178

*WMWMM&WMM?

5+ [ =17

A 13 B. 12 c. 1 D. 10

H‘ Rourded to tha naarest dollar, $26 76 is:

A 527 B. §26.78 C. 526 D. 830
Saxon Math 4 169
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:_I'; Last summer the Wallaces drove 468 miles visiting their
SUMITer?

A, 274 reles B. 306 miles C. 1230 miles D. 294 miles

!&wwm&mﬂmmm“yhﬂu
a school week. He drank 8 ounces on Monday, 9 cunces on

Tuesday, 10 cunces on Wednesday, 8 ounces on Thursday,
and 9 ounces on Friday. How many ounces of water did

Jarrar drak in a weesk?

A. 35 ounces B. 44 ounces C. 50 ounces D. 54 ounces

%Hﬂlhlﬂlmdﬂﬂ?
AT B. 5 C. 6 D.7

%Eﬂiﬂuhmﬂﬁﬂﬂl
A. 1800 B. 1500 C. 900 D. 6000
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